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Code No.  33
Total No. of Questions : 40 ] [ Total No. of Printed Pages : 16  

March, 2009

PHYSICS
( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks :  90

( Kannada Version )

‚ÂÍºÂ» : i) ‚Ê¢ÅW∑  £∑@πÂ›Â»ÂÈR  ‚Â¢Ã¢å˘∆Â  ‚ÂÍ∆Â X«Â  ‚Â„ÊŒÈê‹Y«  èâö«ÂQëY

Œ⁄ÕÂÏ«Ò •¢∑πÂ›Â»ÂÈR xÍ√Â£ÊπÂÈÕÂÏå‹Y.

ii) •ÕÂ‡ÂWê¬ÂÈÕÂ  ∑√  ©∆ÂO¬ÂπÂ›ÂëY ‚Â¢Ã¢å˘∆Â Ñ∆ÂX/¬ÒzÊÑ∆ÂX/ÆÂÈ¢√Â‹

Ã¬ŒÈå«ÂQëY Œ⁄ÕÂÏ«Ò •¢∑πÂ›Â»ÂÈR xÍ√Â£ÊπÂÈÕÂÏå‹Y.

ü̆ÊπÂ – A

I. ® x›ÂÇ»Â Ø£ÊY …ÂX‡RπÂúπ ©∆ÂOàö : 10 × 1 = 10

1. ü›ÂÄ»Â êüÂ̆æ» Ø¢«Â¬Ò»ÂÈ ?

2. ê«ÂÈW∆ ỖyÊ¢ãËŒÈ •£πÂ›Â ß¬ÂÈêxŒÈ»ÂÈR «ÂÎâ¯Ë∑àö«Â êqÊç Œ⁄¬ÂÈ ?

3. ÃÍXW‚ÂJ¬Â»Â çŒÈÆÂÈÕÂ»ÂÈR ãúö.
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4. ÆÈÚx£˜Ô‚Â»˜Ô»Â …ÂXûÍËπÂ«ÂëY „Â∆ÂÈO ÆÂÈÈ∏πÂ›Â ã¬ÂÈπÂÈÕÂ «Â…Â¸≈ÕÂ»ÂÈR ©…ÂûÍËÇö«ÊπÂ

ü›ÂÄ»Â ÕÒπÂx@ ‚ÂÍ∆ÂXÕÂ»ÂÈR Ã¬íÈà.

5. …ÂXãûÍ¢«ÂÈ 1 C ß¬ÂÈÕÂ Ø¬Â√ÂÈ è¢«ÂÈ ¶ÕÒ‡ÂπÂ›Â »Â√ÂÈê»Â •¢∆Â¬Â πÊúŒÈëY 1 êÈË.

ß«ÊQπÂ •ÕÂÏπÂ›Â »Â√ÂÈê»Â Ã‹ÕÒ»ÂÈ ?

6. "«˘̊ÂêÈ¸‚ÂJ¬ Ỗ# Ø¢«Â¬Ò»ÂÈ ?

7. ê«ÂÈW∆ Ỗ …ÂXÕÂõ‚ÂÈÕÂ ≤¢«ÂÈ ∆Â¢ãŒÈ ‚ÂÈ¬ÂÈúŒÈ •∑\«Â ÆÈËë»Â Œ⁄ÕÂ è¢«ÂÈê»ÂëY

yÊ¢∆Âx\Ë∆ÂX πÂà·ÂKÕÊÇ¬ÂÈ∆ÂO« ?

8. ‚Â¢‚Â∑O ºÂ«ÂÈ¬ÂÈêxπ ≤¢«ÂÈ ©«Ê„Â¬Â} xÍâ.

9. NOR «ÊZ¬Âx@ ‚Â∆ÂW ‚Ê¬ÂäŒÈ»ÂÈR Ã¬íÈà.

10. ÃÈ¬ÂÈπÂÈ Ø¢«Â¬Ò»ÂÈ ?

ü̆ÊπÂ – B

II. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ „Â∆ÂÈO …ÂX‡RπÂúπ ©∆ÂOàö : 10 × 2 = 20

11. ‚ÂÆÂÈü˘ÂÈæ …Â¡J∑«ÂëY ≤¢«ÂÈ ü›ÂÄ»Â Ä¬Â≈ÕÂÏ 39° 40 l  ∑ç·ÂK åyÊS∆Â „Û¢«Â‹È

üÒyÊπÂÈÕÂ …Â∆Â»Â xÍË»ÂÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.
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12. ü›ÂÄ»Â Ä¬Â≈«Â êÕÂ∆Â̧ » ê»ÊW‚Â ÆÂÈ∆ÂÈO ÕÂWãË∑¬Â≈ ê»ÊW‚ÂπÂ›Â »Â√ÂÈê»Â Ø¬Â√ÂÈ

ÕÂW∆ÊW‚ÂπÂ›Â»ÂÈR Ã¬íÈà.

13. "…ÌË‹¬ÊŒ¤ ỖL#πÂ›Â Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ ©…ÂûÍËπÂπÂ›Â»ÂÈR ãúö.

14. ÆÂÈÍ¬ÂÈ ê«ÂÈW«ÊÕÒ‡ÂπÂ›Â ÕÂWÕÂ‚PŒÈ êü˘ÂÕÂ ‡ÂÄOπ πÂä∆ÛËÄOŒÈ»ÂÈR çËâ.

15. ® x›Âπ xÍáJ¬ÂÈÕÂ Ñ∆ÂX«ÂëY A ÆÂÈ∆ÂÈO C »Â√ÂÈê»Â …Âà}ÊÆÂÈyÊà «˘Ê¬Â∑∆ŒÈ»ÂÈR

∑¢√ÂÈõâíÈà :

B

C
D

A

1 µF

1 µF

1 µF

1 µF

1 µF

16. ÄºÊ¸À Ỗ»Â

i) ÆÍ«Â‹»Ë çŒÈÆÂÈ«ÂëY¬ÂÈÕÂ ∆Â∆ÂZÕÒ»ÂÈ ?

ii) Ø¬Â√Â»Ë çŒÈÆÂÈ«ÂëY¬ÂÈÕÂ ∆Â∆ÂZÕÒ»ÂÈ ?
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17. ‚ÂÆÂÈ yÊ¢∆Âx\Ë∆ÂX«ÂëYàö«Â ê«ÂÈW∆ Ỗ…ÂXÕÊ„Â ∑ÈäxŒÈ ÆÈËë»Â ü˘ÊXÆÂÈ∑x@ πÂä∆ÛËÄOŒÈ»ÂÈR

çËâ ÆÂÈ∆ÂÈO ©…ÂûÍËÇö«Â …Â«ÂπÂ›Â»ÂÈR êÕÂàö.

18. |ÊX» Ỗ]ÀÊÆÂÈ¸¬ Ỗ»ÂëY ‚Â¢üÂ̆ê‚ÂÈÕÂ Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ ‡ÂÄO »Â·ÂJπÂ›Â»ÂÈR ãúö.

19. ÀÊX» Ỗ„ÊÀÂ¬ Ỗ ¬ÒzπÂ›ÂÈ Ø¢«Â¬Ò»ÂÈ ?  ÀÊX» Ỗ„ÊÀÂ¬ Ỗ ¬ÒzπÂ›Â •«Â̆WŒÈ»Â«Â

…ÊXÆÂÈÈ∏W∆ûÈË»ÂÈ ?

20. ‚ÂÆÂÈôJ …ÂXã£ÛËÆÂÈ»Â Ø¢«Â¬Ò»ÂÈ ?  •«Â»ÂÈR „Òπ ‚Êå˘‚ÂÃ„ÂÈ«ÂÈ ?

21. …ÌX|Ê» Ỗ ÆÂÈ∆ÂÈO »ÂÍW|ÊX» ỖπÂ›Â yÊZy Ỗ̧  ÆÂ⁄«ÂàŒÈ»ÂÈR ãúö.

22. |ÊXç]‚ÂJ¬ Ỗ»Â πÊX„Â∑ êü˘ÊπÂ ÆÂÈ∆ÂÈO ©∆Â]æ¸∑ êü˘ÊπÂπÂ›Â »Â√ÂÈê»Â Ø¬Â√ÂÈ ÕÂW∆ÊW‚ÂπÂ›Â»ÂÈR

ãúö.

ü̆ÊπÂ – C

III. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 5 = 5

23. ÆÂÈ‚ÂÍ¬Â çÆÂ⁄¸≈ ‚ÂÍ∆ÂXÕÂ»ÂÈR ç·ÂSãOö.

24. ÕÂWãË∑¬Â≈«Â ∆Â∆ÂZÕÂ»ÂÈR ç¬ÂÍéö ÆÂÈ∆ÂÈO ¬ÂºÂ»Ê∆ÂV∑ ÕÂWãË∑¬Â≈x@ çÃ¸¢«Â̆πÂ›Â»ÂÈR …Â«˘̊Â

ÕÂW∆ÊW‚Â „ÊπÂÍ …ÊXÕÂ‚ÊP¢∆Â¬Â ÕÂW∆ÊW‚Â«ÂëY ç·ÂSãOö.
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IV. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 2 × 5 = 10

25. ‡ÊzÊ Ã¢«Â̆«ÂëY ÆÂÈÍ¬ÂÈ ¬ÛË«Â̆∑πÂ›Â …Âà}ÊÆÂÈyÊà ¬ÛË«˘Âx@ πÂä∆ÛËÄOŒÈ»ÂÈR …Â√íÈà.

26. ‚Ú»ÂÈ‚ÊŒÈL£ Ỗ   e.m.f. π   πÂä∆ÛËÄOŒÈ»ÂÈR   ç·ÂSãOö   „ÊπÂÍ   ‚ÂÆÂÈŒÈ«Û¢åπ

e.m.f. »Â£ÊYπÂÈÕÂ Ã«Â£ÊÕÂ}ŒÈ»ÂÈR πÊXÀ Ỗ»Â ÆÂÈÍ‹∑ ãúö.

27. „Ú√ÛXæ» Ỗ ‚Ê«ÂÎ‡Â …Â¬ÂÆÂ⁄≈Èê»Â n»Ò ∑x\ŒÈëY Ø£yÊd»˜Ô»Â ãXæW«Â πÂä∆ÛËÄOŒÈ»ÂÈR

∆π«ÂÈxÍ¢√ÂÈ •«Â¬Â ≤¡ÈJ ‡ÂÄOπ πÂä∆ÛËÄOŒÈ»ÂÈR ç·ÂSãOö.

V. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ Ø¬Â√ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 2 × 5 = 10

28. a) »ÂÍWÄYŒÈ¬ Ỗ Ã‹πÂ›Â ÆÂÈÍ¬ÂÈ êò·ÂJ ‹∑\≈πÂ›Â»ÂÈR Ã¬íÈà.

b) »ÂÍWÄYŒÈ¬ Ỗ ‚Â¬Â…Âú ÄXûÈ ÆÂÈ∆ÂÈO yÊX¢ã∑ πÊ∆ÂXπÂúπ ÕÊWzW çËâ.

29. a) »Ú‚ÂÇ¸∑ êÄ¬Â≈…Â¡È∆ÂZ Ø¢«Â¬Ò»ÂÈ ?

b) ‚ÛËâLŒÈ πÂÈ¢…ÂÏ-‚ÊP»Â…Â‹Y¡ çŒÈÆÂÈπÂ›Â»ÂÈR Ã¬«ÂÈ êÕÂàö.

30. a) p-ÆÂ⁄«Âà ÆÂÈ∆ÂÈO n-ÆÂ⁄«Âà •¬ÕÊ„Â∑πÂ›Â »Â√ÂÈÕ ß¬ÂÈÕÂ ÆÂÈÍ¬ÂÈ ÕÂW∆ÊW‚ÂπÂ›Â»ÂÈR

ãúö.

b) p-n ‚Â¢å̆  Ø¢«Â¬Ò»ÂÈ ?  ß«Â¬Â  Œ⁄ÕÂ  πÂÈ≈ÕÂÏ  uÈæÈyÊ¬Â∑  ÄXûÈŒÈëY

©…ÂûÍËπÂÕÊπÂÈ∆ÂO« ?

VI. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ÆÂÈÍ¬ÂÈ …ÂX‡RπÂúπ ©∆ÂOàö : 3 × 5 = 15

31. ≤¢«ÂÈ „Û›ŒÈÈÕÂ è¢«ÂÈŒÈÈ∑O ÕÂ‚ÂÈOÕÂ»ÂÈR ≤¢«ÂÈ «ÂXÕÂ«Â ≤›Âπ 0·5 êÈË. ¶›Â«ÂëY

ß|ÊJπÂ «ÂXÕÂ«Â  ÆÈË£VÚ  ÆÈË£  0·5675 êÈË.  ãXæWê¬ÂÈÕÂ  ü›ÂÄ»Â  ÕÂÎ∆ÊOyÊ¬Â«Â

ÆÂÈºE yÊäöxÍ›ÂÈ_∆ÂO«. «ÂXÕÂ«Â yÊX¢ã∑ xÍË»Â „ÊπÂÍ ÕÂÄXËüÂ̆ÕÂ»Ê¢∑ÕÂ»ÂÈR

∑¢√ÂÈõâíÈà.
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32. 0·1 êÈË. üÊ„ÂÈÕÂÏ›Â_ ABCD ºı∑«Â »Ê‹È@ ‡ÂÎ¢πÂπÂ›ÂëY + Q, + 2Q, + 3Q ÆÂÈ∆ÂÈO    

+ 4Q ê«ÂÈW«ÊÕÒ‡ÂπÂ›Â»ÂÈR ∑XÆÂÈÕÊÇ ß√Â£ÊÇ«. ºı∑«Â ÆÂÈ«Â̆W«ÂëY 5·1 × 10 3 

NC – 1  ê«ÂÈW∆ Ỗx\Ë∆ÂX ãËÕÂX∆ ß«ÂQ¬, Q »Â ü£ŒÈ»ÂÈR ∑¢√ÂÈõâíÈà.

33. 12 V e.m.f. ÕÂÏ›Â_ „ÊπÂÍ 2 Ω ¶¢∆Âà∑ ¬ÛË«Â̆ÕÂÏ›Â_ xÍË‡ÂÕÂ»ÂÈR 4 Ω ¬ÛË«Â̆ÕÂÏ›Â_

|ÊW{¢| Ỗ πÊW‹Z»ÛËÆÂ⁄…Â∑x@ ‡XËä Ã¢«Â̆«ÂëY {ÛËâ‚Â£ÊÇ«. ‚ÂÈ¬ÂÈú ‚Â¢zW 2 „ÊπÂÍ

‚ÂÈ¬ÂÈúŒÈ ãXæW 0·078 êÈË. ¶Ç«. …Â‹Y¡ xÍË»ÂÕÂÏ 45° ¶«Â¬ ¶ ‚ÂP›Â«Â

πÊW‹Z»ÛËÆÂ⁄…Â∑«Â …ÂàÕÂ∆Â̧ »Â πÂÈ}Ê¢∑ „ÊπÂÍ B H   ∑¢√ÂÈõâíÈà.

34. ≤¢«ÂÈ £ÛË„Â«ÂëY «ÂÈWã-Ø£yÊd»˜Ô ©∆Â]æ¸»Œ⁄πÂ‹È üÒyÊπÂÈÕÂ πÂà·ÂK ∆Â¬Â¢πÂ«ÂÍ¬Â   

210 nm ¶«Â¬, •«Â¬Â yÊŒÈ¸ÀÂ‹»ÂÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. 150 nm ∆Â¬Â¢πÂ«ÂÍ¬Â ß¬ÂÈÕÂ

êÄ¬Â≈ÕÂ»ÂÈR •«Ò £ÛË„Â«Â ÆÈË£VÚ ÆÈË£ „ÊíÈö«ÊπÂ ©∆Â]Ü¸‚ÂÈÕÂ «ÂÈWã-

Ø£yÊd»ÂÈπÂ›Â πÂà·ÂK ºÂ‹»Â ‡ÂÄOŒÈ»ÂÈR ∑¢√ÂÈõâíÈà.

( ) …ÊY¢∑»Â çŒÈ∆Ê¢∑ = 6·625 ×  10 – 34 Js ‚ ü›ÂÄ»Â ÕÒπÂ 3 ×  10 8 ms – 1   

VII. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 5 = 5

35. òÀ ỖJ  ê«˘Ê»Â«ÂëY  ‚Â¢πÂÆÂÈ«ÂÍ¬Â  „ÊπÂÍ  üÊŒ¤ Ỗ]  ê«˘Ê»Â«ÂëY  ÕÂ∑X∆Ê  ãXæWÕÂ»ÂÈR

∑¢√ÂÈõâŒÈÈÕÂ  ÆÂÈÍ‹∑  ≤¢«ÂÈ  éË»Â  ÆÂÈ‚ÂÍ¬Â«Â  ÕÂ‚ÂÈOê»Â  ÕÂÄXËüÂ̆ÕÂ»Ê¢∑ÕÂ»ÂÈR

∑¢√ÂÈõâŒÈÈÕÂ …ÂXûÍËπÂ ê«˘Ê»ÂÕÂ»ÂÈR êÕÂàö.

36. xÍáJ¬ÂÈÕÂ ÕÊWéOŒÈëY ≤¢«ÂÈ πÊW‹Z»ÛËÆÂ⁄…Â∑ÕÂ»ÂÈR êü˘ÂÕÂÆÂ⁄…Â∑ÕÂ»ÊRÇ …ÂàÕÂã¸‚ÂÈÕÂ

…ÂXûÍËπÂ ê«˘Ê»ÂÕÂ»ÂÈR êÕÂàö.
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VIII. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 5 = 5

37. ≤¢«ÂÈ ÕÊ„Â∑«Â êò·ÂJ ¬ÛË«Â̆ÕÂ»ÂÈR êÈË¡¬ Ỗ èX√ ỖG ‚Â„ÊŒÈå¢«Â ∑¢√ÂÈõâŒÈÈÕÂ

…ÂXûÍËπÂ«ÂëY ® x›ÂÇ»Â¢∆ πÂÈ}Ê¢∑πÂ›Â»ÂÈR »ÂÆÂÈÍå‚Â£ÊÇ«. «Â∆ÊO¢‡ÂπÂú¢«Â ÕÊ„Â∑«Â

∆Â¢ã ÕÂ‚ÂÈOê»Â êò·ÂJ ¬ÛË«Â̆ÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.

¬ÛË«Â̆∑ ∆Â¢ãŒÈ ©«ÂQ = 0·5 êÈË.

¬ÛË«Â̆∑ ∆Â¢ãŒÈ ÕÊW‚Â =  0·33 êÈ. êÈË.

…ÂX.‚Â¢. Ã‹ ∆¬Âé»Â ¬ÛË«Â̆
( Ω )

∆ÛË‹»Â ©«ÂQ
( êÈË. )

1 5 0·545

2 7 0·461

38. {ı£ Ỗ yÊW£ÛËàÆÂ⁄…Â∑ÕÂ»ÂÈR ©…ÂûÍËÇö çËà»Â êò·ÂJ πÊX„ÛWË·ÂNÕÂ»ÂÈR

∑¢√ÂÈõâŒÈÈÕÂ ê«˘Ê»Â«ÂëY ® x›Â∑¢√Â¢∆ πÂÈ}Ê¢∑πÂ›Â»ÂÈR êËÄ\‚Â£ÊÇ«. ®

«Â∆ÊO¢‡ÂπÂ›Â»ÂÈR ©…ÂûÍËÇö çËà»Â êò·ÂJ πÊX„ÛWË·ÂNÕÂ»ÂÈR ∑¢√ÂÈõâíÈà :

yÊW£ÛËàÆÂ⁄…Â∑ + ∑‹∑ÈÕÂ ∑âL ‚Âõ∆Â «ÂXÕÂW¬Êò =  0·0575 kg

yÊW£ÛËàÆÂ⁄…Â∑ + ∑‹∑ÈÕÂ ∑âL + çË¬ÂÈ ‚Âõ∆Â «ÂXÕÂW¬Êò =  0·130 kg

…ÊX¬Â¢è˘∑ ©·ÂN∆ =  28°C

ÕÌ£ ỖJêÈË¡¬ Ỗ àËâ¢π Ỗ =  2 V

•êÈVË¡¬ Ỗ àËâ¢π Ỗ =  1·5 A

•¢ãÆÂÈ ©·ÂN∆ =  34°C

ê«ÂÈW∆ Ỗ …ÂXÕÂõ‚ÂÈÕÂ yÊ‹ =  10 çêÈ·Â

yÊW£ÛËàÆÂ⁄…Â∑«Â ÕÂ‚ÂÈOê»Â êò·ÂJ πÊX„ÛWË·ÂN =  385 J kg – 1  K – 1  
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ü̆ÊπÂ – D

IX. ® x›ÂÇ»ÂÕÂÏπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ≤¢«ÂÈ …ÂX‡Rπ ©∆ÂOàö : 1 × 10 = 10

39. a) •∑\x@ ‹¢ÃÕÊÇ ÆÂÈÈ∏ê¬ÂÈÕÂ¢∆ ∑∆ÂOàö«Â yÊZ| Ỗ]¸ ÀÂ‹∑ÕÂÏ 0·2 êÈË. ©«ÂQ

„ÊπÂÍ 250 kg m – 3   ‚Ê¬Â«Â  ‚Â∑@¬  «ÊXÕÂ≈«Â£ÊYπÂÈÕÂ  «ÂÈWã…Â¡È∆ÂZÕÂ»ÂÈR

‡ÂÍ»ÂWπÛú‚ÂÈ∆ÂO«. yÊZ| Ỗ]¸ ÀÂ‹∑«Â êò·ÂJ üÂ̆XÆÂÈ} 380 rad m – 1  „ÊπÂÍ

‚Â∑@¬ «ÊXÕÂ≈«Â êò·ÂJ üÂ̆XÆÂÈ} 0·0116 rad m 2  kg – 1  ß«ÊQπÂ ÀÂ‹∑«Â

«Â…ÂSÕÂ»ÂÈR ∑¢√ÂÈõâíÈà.  4

b) «˘Ê¬Â∑ Ø¢«Â¬Ò»ÂÈ ?  ‚ÂÆÂ⁄¢∆Â¬Â ÀÂ‹∑ «˘Ê¬Â∑«Â ∆Â∆ÂZÕÂ»ÂÈR çËâ. 4

c) «ÂÈWã-©…Â∑¬Â≈«Â …ÂÎ«˘̊Â—∑@¬Â≈ ‚ÊÆÂÈ«˘̊ÂW¸x@ ÕÊWzW çËâ. «ÂÍ¬Â«Â‡Â̧ ∑«Â …ÂÎ«˘̊Â—∑@¬Â≈

‚ÊÆÂÈ«˘̊ÂW¸ÕÂ»ÂÈR „Òπ „ÑE‚ÂÃ„ÂÈ«¢«ÂÈ ãúö. 2

40. a) 0·2 m ©«ÂQ „ÊπÂÍ 1·2 A ê«ÂÈW∆˜Ô…ÂXÕÊ„Âê¬ÂÈÕÂ ≤¢«ÂÈ »Ò¬Â ÕÊ„Â∑ÕÂ»ÂÈR 0·3

T yÊ¢∆Âx\Ë∆ÂX«ÂëYàö«ÊπÂ 3·6 × 10 – 2  N Ã‹ÕÒ…Â̧ √ÂÈ∆ÂO«. »Ò¬Â ÕÊ„Â∑

„ÊπÂÍ yÊ¢∆Âx\Ë∆ÂX«Â »Â√ÂÈê»Â xÍË»ÂÕÂ»ÂÈR ∑¢√ÂÈõâíÈà. »Ò¬Â ÕÊ„Â∑ÕÂÏ

yÊ¢∆Âx\Ë∆ÂXx@ ‹¢ÃÕÊÇ«ÂQëY ÕÊ„Â∑«Â ÆÈË£ ©¢|ÊπÂÈÕÂ Ã‹Õ·ÂÈJ ? 4

b) «ÂXÕÂW ∆Â¬Â¢πÂ Ø¢«Â¬Ò»ÂÈ ?  "â üÛXËÇY# •£ŒÈÈ«ÂQx@ πÂä∆ÛËÄOŒÈ»ÂÈR ç·ÂSãOö. 4

c) (i)  ‡ÂÈ«ÂQM «˘Ê¬Â∑ „ÊπÂÍ  (ii)  ‡ÂÈ«ÂQM …XË¬Â∑πÂúπ ê«ÂÈW∆ Ỗ ‚ÊÆÂÈ«˘̊ÊW¸¢‡Â«Â

ü£πÂ›Â»ÂÈR Ã¬íÈà. 2
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( English Version )

Note : i) Numerical problems solved without writing the relevant

formulae carry no marks.

ii) Answers without relevant diagram / figure / circuit wherever

necessary will not carry any marks.

PART – A

I. Answer all of the following questions : 10 × 1 = 10

1. What is dispersion of light ?

2. Name the scientist who confirmed the existence of electromagnetic

waves.

3. State Brewster’s law.

4. Give the formula for speed of light in Michelson’s experiment when

rotating mirror with ten faces are used.

5. What is the force between two point charges which are 1 C each

separated by 1 m in air ?
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6. What is thermistor ?

7. At which point on the axis of a circular coil carrying current, the

magnetic field is maximum ?

8. Give an example for coherent scattering.

9. Write the truth table for NOR gate.

10. What is foam ?

PART – B

II. Answer any ten of the following questions : 10 × 2 = 20

11. Calculate the angle of incidence for a ray of light to have minimum

deviation of 39° 40 l   in equilateral prism.

12. Write two differences between diffraction pattern and interference of

light.

13. Mention any two uses of polaroids.

14. Give the expression for potential energy of a system of three

charges.  
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15. Find the effective capacitance between A and C in the following

figure :

B

C
D

A

1 µF

1 µF

1 µF

1 µF

1 µF

16. What principle is involved in the

(i)  Kirchhoff’s First law,  (ii)  Kirchhoff’s Second law ?

17. Write the expression for torque on a current loop placed in a uniform

magnetic field and explain the terms used.

18. Mention any two causes of power loss in transformer.

19. What are Fraunhofer lines ? What is the importance of studying

Fraunhofer lines ?

20. What is population inversion ? How can it be achieved ?

21. Write the quark model for proton and neutron.

22. Write two differences between collector region and emitter region of a

transistor.
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PART – C

III. Answer any one of the following questions : 1 × 5 = 5

23. Obtain Lens-maker’s formula.

24. Give the theory of interference and hence obtain the condition for

constructive interference in terms of path difference and phase

difference.

IV. Answer any two of the following questions : 2 × 5 = 10

25. Obtain the expression for effective resistance of three resistors in

parallel.

26. Derive the expression for sinusoidal e.m.f.  and represent graphically

the variation of e.m.f. with time.

27. Obtain the expression for energy of an electron in the n th  orbit of

hydrogen like atom assuming the expression for radius.

V. Answer any two of the following questions : 2 × 5 = 10

28. a) Write any three characteristics of nuclear forces.

b) Define the terms ‘nuclear chain reaction’ and ‘critical size’.
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29. a) What is natural radioactivity ?

b) State and explain Soddy’s group-displacement law.

30. a) Give three differences between p-type and n-type

semiconductors.

b) What is p-n junction ? Which property of p-n junction is used in

rectification ?

VI. Answer any three of the following questions : 3 × 5 = 15

31. A luminous point object is placed at a depth of 0·5 m inside a liquid.

A circular patch of light of radius 0·5675 m is formed on the surface.

Find the critical angle and R.I. for the liquid.

32. Four charges + Q, + 2Q, + 3Q and + 4Q are placed at the corners of

a square ABCD of side 0·1 m respectively. The intensity of electric

field at the centre of the square is 5·1 × 10 3  NC – 1  . Find the value

of Q.

33. A battery of e.m.f. 12 V and internal resistance 2 Ω is connected in

series with a  T.G. coil of resistance 4 Ω . The number of turns is 2

and radius of the coil is 0·078 m. The angle of deflection is 45°.

Calculate the reduction factor of the T.G. and B H   at the place.

34. For a metal the maximum wavelength required for photoelectron

emission is 210 nm. Find the work function. If radiation of

wavelength 150 nm falls on the surface of the given metal, find the

maximum kinetic energy of the emitted photoelectrons.

( Planck’s constant = 6·625 × 10 – 34  Js and velocity of light in

vacuum is 3 × 10 8  ms – 1 . )
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VII. Answer any one of the following questions : 1 × 5 = 5

35. Describe an experiment to determine the refractive index of the

material of a convex lens by finding its focal length by shift method

and radius of curvature by Boy’s method.

36. Describe an experiment to convert a given galvanometer into

voltmeter of given range.

VIII. Answer any one of the following questions : 1 × 5 = 5

37. In an experiment to find the resistivity of the material of the wire by

using metre bridge, the following readings are recorded. Using the

data, calculate the resistivity of the material of the wire.

Length of the resistance wire = 0·5 m

Diameter of the resistance wire = 0·33 mm

T.N.
Resistance in

the right gap

( Ω )

Balancing length

( m )

1 5 0·545

2 7 0·461
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38. The following readings are obtained in finding the specific heat of

water by using Joule’s calorimeter. Using these data calculate the

specific heat of water.

Mass of empty calorimeter + stirrer =  0·0575 kg

Mass of empty calorimeter + stirrer + water =  0·130 kg

Initial temperature =  28°C

Voltmeter reading =  2 V

Ammeter reading =  1·5 A

Final temperature =  34°C

Time for which current is passed =  10 min.

Specific heat of the material of the calorimeter =  385 J kg – 1  K – 1  

PART – D

IX. Answer any one of the following questions : 1 × 10 = 10

39. a) A quartz plate cut with its faces perpendicular to its optic axis is

found to annul the rotation produced by 0·2 m length of sugar

solution of concentration 250 kg m – 3 . If the specific rotation of

quartz plate is 380 rad.m – 1  and the specific rotation of sugar

solution is 0·0116 rad m 2  kg – 1 , find the thickness of the

quartz plate. 4

b) What is a capacitor ? Give the principle of parallel plate

capacitor. 4

c) Define resolving power of an optical instrument. How can

resolving power of a telescope be increased ? 2
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40. a) When a straight conductor of length 0·2 m carrying current of

1·2 A is placed in a magentic field of strength 0·3 T, it

experiences a force of 3·6 × 10 – 2  N. Calculate the inclination of

the conductor with the field. Find the force, if the conductor is

at right angles to the magnetic field. 4

b) What are matter waves ? Obtain the expression for ‘de Broglie’

wavelength. 4

c) Write the value of power factor for 2

i) a pure resistor

ii) a pure inductor.

                  


